
PRODUCT MANUAL

���������
��������������������



������������������������������������������������������������������������������������������������������������������������������������������������������� ���


����������������������������������������������������������������������������������������������������������������������������������������������������������������� ���

��
�����	���������������������������������������������������������������������������������������������������������������������������������������������������������������

��
�������������	���������������������������������������������������������������������������������������������������������������������������������������������
�


����������������������������������������������������������������������������������������������������������������������������������������������������������������������
�

��������������������������������������������������������������������������������������������������������������������������������������������������


�����������������������	���������������������������������������������������������������������������������������������������������������������������������

���������	�����������������������	���������������������������������������������������������������������������������������������������������������� �� 

��
�����	�­�������������	����������������������������������������������������������������������������������������������������������������������������������

�������������������������������������	������������������������������������������������������������������������������������������

�����������������������������������������������������������������������������������������������������������������������������

01   Assembly instruction

02   Installation instruction

03   Troubleshooting and Maintenance

TABLE OF CONTENTS



01 Assembly instruction



1

��������



2

Tape measure pencil Spanners

Hex Key



3

���������������
Model pcs Model pcs Model pcs Model pcs Model pcs

�

��

M��

��
�

�

�

�

�

��

�

�

�

��

��

�

���

��

��

��

�

�

�

��

��

��

��

��

�� �

��

�

�

�

��

��

��

�

�

�
glue

C��

C��

D��

M��*��

M�*��

M�*��

M�*��

M�*�

M�*��

M�

M�

M�

A��

B��

B��

B��

B��

B��

B��

B��

A��

A��

A��

M��*���

plotting sheet

M��

M���

�

�

�

�

�

�

�

�

M��

�

�

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100M12x100

M12x100



4

��������������������	

Top cabinet

Middle fence

Left side fence Right side fence

Turning part

BB

C Turning part C

D

A



5

1

3

×10×10

×10

×2 ×8

×2

×2

×1

×1

×5

2

4

A

A��

A�� A��

A��
A��

A��

A��

A��

�

�

�

5

A��

Middle fence



6

75

8 9

6

10

�A��

A��

A��

A��



7

Left/Right 
side fence

×24

×12

×2

×2

×2

×2

×2

×16×30

×16

×4

×16

×24

×30

×24

1

3

2

4

B

B��

B��

B��

B��

B��

B��

B��

B��

B��

B��

B��

B��

B��

B��

B��B��

�

�

�

�

�

×16�

�

�×30



8

75

8 9

6

10

B��

B��

B��

�

�
���

���



9

11 12

13

B��

�
�
�

�



Turning
 part

3 4

1

×60

×60

×2

×60

2

咔嚓

C

C��

C��

C��

C��

�

�

�

10



11

3

×2

×2

×2

×2

×2

×2

×10

×10

×10

1 2

4

�

�

�

�

C

���������������������
�������������	��������
��������������������
��������



12

5

7

6

8

�

4



13

×2

×2

×1
3

3 2D

D��

�

�

�

�����������������
������������������
�������������������
����������������



02 Installation instruction



14

1、 The ground surface where the gate is installed should be level;

2、The concrete grade >= C30 (For outdoor installation);

3、Concrete thickness>=200mm;

4、The ground must be frost-free and have good bearing capacity;

5、The turnstile must be grounded;

6、The power cord should be no less than RVV3*2.0;

7、When installing, make sure the body is horizontal and the turning bar is vertical.

������������������������



15 

������������
Bury external hexagon expansion  screws

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100

M12x100M12x100

M12x100



16

Buried wires according to wiring diagram ahead of time
(Note: This device only needs power cords. If other access control equipment is installed, wiring can be

done according to actual conditions.)

11
90

22
30

2200

nside the Shell

Movement Control Board Location

Card Reader Wiring Position
Card Reader Wiring Position

Card Reader Location
Card Reader Location

Ground Entry Line Position

Finished Floor Level

 Power Øwire(3 X Ø2.0mm). TCP/IP  wire  (8 core) fixed base plate card reader signal line



17

2200

13
00

Turnatile installation and fixation



18

Wiring diagram



19


�����	
1、Check the wiring: Check the power cord is correctly connected according to the wiring diagram before turning on the power; 

2、Set the access control relay unlocking time to 0s or 1s； 

3、When a valid card is swiped, the indicator light  turns into a green arrow，and the turnstile closes if no one passes within 5 s; 

4、While swiping a valid card, the turnstile cannot be opened from the entry direction but the indicator light turns green on the 

     opposite side , then swap the SW1 Gnd and SW2 Gnd terminals；

5、nly one person can pass through after swiping the card, and the gate rotates smoothly； 

6、Control panel dial instructions： 

Function setting Dial code:ON indicate 1 Pass speed

8 7 6 5 4 3
0

0

0

0
1

1

1
1

0
0

1
1
0

0

1
1

0 5S

6S
7S
8S
9S

10S
11S

12S

1

0
1
0

1

0
1

2 1 Dial code

4、Factory reset: dial 4 to ON before powering on, and then dial 4 to OFF after powering on.
5、Led flowing light - light mode: (the default code: OFF)
     Set the light mode: dial 4 and 5 to ON before powering on, and then dial 4 to OFF after powering on.
6、Solenoid working mode: (default mode “ON”: Solenoid power on when the turnstile is closed, power off 
     when opening the turnstile)
     Change Solenoid working mode( Solenoid power off when the turnstile is closed, power on when opening 
     the turnstile) : before turnstile powering on, dial 6 to OFF, and then power on again.
7、Limit switch working mode: (default code: ON)
     Set limit switch: before powering on, dial 7 to OFF, and then power on again.
8、Memory mode: (Default Code: OFF (No pass memory))
     Set memory mode: Before powering on, dial 8 to ON ,and then power on again.(Most thing is group 
     ticket)

Memory mode means that all commands will be recorded and executed one one by one, for example: swipe a valid card five times, pass five people; non-memory mode means 
that the number of card swipes is not accumulated, for example: swipe a valid card five times, pass one person.
                      



03 Troubleshooting and
 Maintenance




�������������	
Question1：While swiping card, the turnstile cannot be opened from the entry direction but can be opened from the opposite direction ? 

Solution：   Swap the connection between SW1-Gnd and SW2-Gnd terminals of control board.

Question2：There is one indicator light with wrong direction？ 

Solution：   Swap the connection between D1 and D2 terminals of control board.

Question3：While swiping card,the turnstile cannot be opened but the indicator light turns green ? 

Solution：   Short-circuit SW1 and GND, and then check if the solenoid opens. If it can not open, pls check if there is voltage output on the two 

                     connection between 24V and GNDs terminals, or check and replace the solenoid.

Question4：While no swiping card, turning bar can always turns？ 

Solution：   After turning off the power, the turning bar still can be pushed and rotate : Pull the axis of the solenoid to check if it works smoothly. 

                    If  not work smoothly, loosen the screws of the solenoid and readjust the solenoid position slightly,  then fix the screws.

Question5：After swiping one card, locked after several turns（Default：After swiping one card, locked after one turn）？ 

Solution：   After shorting SW1and GND terminals, the solenoid opens automatically. Then shorting the POS-12V terminals, if  the solenoid dose 

                    not open, please replace the control board; if it opens immediately, please make the limit switch close to the cam (part of the movement)

Question6：After swiping card,  the turning bar locks before pass completely. 

Solution：   1. Increase the distance between the limit switch and  the cam (part of the movement);

                     2. Increase the pass time slightly                     

Question7：It is difficult to push the turning bar after swiping the card？ 

Solution：   1. Check whether the bearing is rusted; if rusted, replace it.

                     2. Check whether the turning bar is installed vertically; if not, adjust it.

Question8：After swiping the card,  just pull the turning bar back to turn normally？ 

Solution：   1. Check whether the turning bar is installed vertically. If not, please adjust.

                     2. Pull the axis of the solenoid to check if it works smoothly. If  not work smoothly, loosen the screws of the solenoid and readjust the

                         solenoid position slightly, then fix the screws.

20



21

不锈钢闸机保养说明书

科学研究表明，造成304不锈钢材
质腐蚀生锈的首要环境因素是氢离子、
氯离子广泛存在。比如食盐/汗迹/海水/
海风/土壤等等、不锈钢在氦离子存在下
的环境中，腐蚀很快，甚至超过普通的
低碳钢，所以对不锈钢的使用环境有要
求，而且需要经常擦拭，除去灰尘，保
持清洁干燥。

304不锈钢为什么会生锈？

尊敬的客户：

您好！感谢您购买本公司的产品，我司郑重向客户承诺，您购买的人行
通道类产品，外观均采用不锈钢304材质，生产工艺精良，经过严格的检
验，产品质量合格。但是，在产品的安装及使用过程中，受操作不当及气候
环境的影响，各个部件不可避免的会产生磨损劣化。导致产品外观生锈，影
响客户体验。建议您给予产品定期的维护与保养，让您的产品日久弥新。

类         型：表面灰尘，化学液体，污垢及酸碱性物质
处理方法：用柔软无纺布蘸水清洗，然后擦拭干净，再用酒精擦洗，
再用WD-40防锈剂将闸机全身擦拭；
保养周期：周保养

类         型：表面有彩虹纹或者表面颜色暗沉
处理方法：用柔软的棉布蘸温水清洗干净，然后擦拭干净。再用酒精
擦洗，再用WD-40防锈剂将闸机全身擦拭；
保养周期：周保养

类         型：检查活动部件有无异响，松动
处理方法：用黄油涂抹到活动部位中
保养周期：季度保养

类         型：检查紧固件有无松动，电路有无异常
处理方法：紧固件松动，需紧固件如螺丝重新拧紧，排除电路异常
保养周期：年度保养

����

Acid-base salt

Chloride ion
Hydrogen ion

Organic
juice

Miscellaneous items
contaminated

Iron
goods



22

Maintenance tools and materials
1、Cleaner: Choose mild stainless steel cleaners and avoid using cleaners with acidic or alkaline ingredients.

2、Soft cloth or sponge: Spray cleaners on a soft cloth （or sponge） to clean the turnstile surface.

3、Water: wash surface dirt.

4、Drying cloth: wipe off surface moisture.

5、WD-40 Rust Remover: Remove rust caused by long-term exposure to corrosive environment.

6、 Lubrication: lubricate bearings, locking arms, transmission joint components.

Note：
1、 Avoid using cleaners with acidic or alkaline ingredients, which may make the surface rust.

2、Avoid using sharp or hard objects to scratch the turnstile surface, which will affect the appearance of the

     turnstile surface.

3、Keep surface dry，Avoid making the turnstile in moisture for a long time. Water stains will cause stainless

     steel to rust. If there are water stains on the surface, wipe clean immediately.

4、Regular inspection and maintenance，regularly check the turnstile surface condition to promptly find and 

     resolve existing problems. If there are rust or scratches on the surface, please maintain or replace in time.




